i OANER EF 2| FER | 53 R Y| R 8
= %< i ¥ 2R it ek | eSS
(A) (B) (C) | (7%

LG f &R | %90 | % 490 | drd it | AL | (- )p &= | C=1 |30 § ~
ol | % 1E | %245 |6 3~ EF OAE2Z ( AxBxCx
N 1309~ p(z)w 6g~)=
BTGP IR - o 1 & ¥~
- A PoooARE
oo F FoAn ke i 5
BN E RoRF
Flapt 2o B=1-

A2 RE (Z)p ~=%
Wi B2 F EROAE 2
R p (g) W
o 1 E
oo ER
R

2 38 R A
:’(ﬁ;,ﬁigf
vl =B
fi:’(i\‘g{%t 1
(FfpEr
1=x>B=2;
TAEE R 2
% » B=3 >
gt Hpda e )

AEHEHFR P AXBXCx6 § ~ =1x1x1x6 § ~ =6 § ~

3B AT R e B
5‘) Yo ::{r\'

v
ee)
=\
N

»
H
=
?\_E

ToERBGEY P

PreE - FA | RBAY
IR 3 B (Pi)

B | EFEE 38 iz 45 FF A3




EF RB R
PES U RS 2

EFRB B2 FrcE bl A &
3 S A F € Y P
| B 280 ¥ 240 . s e | A=35%
&P ip iF M adTd W5+ | 21y
&) Y, L§J§§5\1 e
B3R
e
B




